
 

 -  -  -  -  -  -  -  -  -  -  -  -  -  -  -
 -  -  -  -  -  -  - 

DS-articles
Battery Body Brakes Chassis Clutch Cooling System Engine Exhaust Filters Fuel Pump Gaskets Hydraulics Ignition Interior Media

Miscellaneous Screenwiper Starter Engine Steering Parts Suspension Tires Tools Windows

Battery

 P-529B Battery Varta 70ah DS 107,70 ?
 P-529 BNL5310012 Battery Fullmen 60ah DS 77,00 ?

Body

 174.0653 521 17 1 Outer doorbottom left front DS 21,70 ?
 174.0654 521 17 2 Outer doorbottom right front DS 21,40 ?
 174.0655 521 37 1 Outer doorbottom left rear DS 19,50 ?
 174.0656 521 37 2 Outer doorbottom right rear DS 19,40 ?
 174.0657 521 09 1 Bottomplate front wing DS left 11,70 ?
 174.0658 521 09 2 Bottomplate front wing DS right 11,20 ?
 174.0659 521 07 1 Inner doorbottom left front DS 29,90 ?
 174.0660 521 07 2 Inner doorbottom right front DS 29,90 ?
 174.0661 521 27 1 Inner doorbottom left rear DS 22,20 ?
 174.0662 521 27 2 Inner doorbottom right rear DS 22,10 ?
 174.0663 Horisontal strip on front door inside 7,10 ?
 174.0664 Horisontal strip on rear door inside 7,00 ?
 190.0040 5 506 214 Filler cap DS chrome 8,40 ?
 C001a Cover joint stainless steel 4,60 ?
 C001b Headlight glass rubber 6,20 ?
 C002a Cover joint stainless steel 4,60 ?
 C002 Headlight glass rim, plastic 22,70 ?
 C003a Repair panel rear part innerwing, left or right 30,70 ?
 C003b Repair panel lower part innerwing, left or right 30,70 ?
 C003 Innerwing DS berline, left or right 220,10 ?
 C004a Adjusting bracket for rear bumper, left or right 39,70 ?
 C004b Adjusting bracket repair pin 16,60 ?
 C004c Nut for adjusting bracket 3,40 ?
 C004d Adjusting bracket for rear bumper, stainless steel, left or right 74,90 ?
 C004e Little rubber buffer for rear bumper 1,40 ?
 C004f Bumper rubber rear bumper 52,20 ?
 C004g Ring for adjusting bracket 1,20 ?
 C004h Rearbumper rubber block for safari 62,00 ?
 C004 Rear bumper support, left or right 21,10 ?
 C005 Rubber for bumper support 5,70 ?
 C006a Gusset for shelf (above innerwing rear), left or right 17,00 ?
 C006 Triangular reinforcement on innerwing, left or right 13,00 ?
 C007 Rubberholders on top of innerwing, set 22,70 ?
 C008a Raingutter rubber, set 8,00 ?
 C008b Outside rim raingutter 5,70 ?
 C008 Raingutters, set 29,50 ?
 C009a Cover plate for height corrector rear, stainless steel 35,20 ?
 C009 Cover plate for height corrector rear 26,10 ?
 C010a Elephant's ear rubber, left 4,60 ?
 C010 Elephant's ear, left 23,80 ?
 C011a Elephant's ear rubber, right 4,60 ?
 C011z Rearpanel complete powdercoated black 181,50 ?
 C011 Elephant's ear, right 39,70 ?
 C012a Support plate rear wing, 2 pieces 16,60 ?
 C012 Rearpanel complete sinc plated 172,50 ?
 C013 Rearpanel sides, left or right 17,00 ?
 C014a Boot seal kit ID, set of 3 13,60 ?
 C014b Rubber strip on boot door upper 11,40 ?
 C014c Clamb for rubberstrip on boot door 1,30 ?
 C014 Rubberholder rear panel 9,10 ?
 C015 Rearpanel Z -profile 10,20 ?
 C016a Numberplate holder front plastic 136,20 ?
 C016b Plug for numberplate holder front 4,60 ?
 C016c Holder numberplate, stainless steel, large or small 13,00 ?
 C016d Rubber numberplate holder front 6,80 ?
 C016 Numberplate holder rear metal 124,80 ?
 C017a Boot floor panel original shape 70,40 ?

 



 C017b Closing panel above rear axle 43,10 ?
 C017 Boot floor panel 47,70 ?
 C022a Front jacking point 44,30 ?
 C022 Jacking point reinforcement 4,60 ?
 C023a Bottem plug per piece 3,00 ?
 C023 Floor reinforcement panel rear 4,60 ?
 C024 Step on top of sill, front or rear, left or right 15,20 ?
 C026 Doorskin front, left 270,00 ?
 C027a Doorskin rear, all types, left or right, new type 220,10 ?
 C027 Doorskin rear, all types, left or right, old type 220,10 ?
 C028a Door bottom repair panel outer all types, front or rear, left or right 30,70 ?
 C028b Clambs to weld for vert. doorrubber, 25 pcs. 15,90 ?
 C028c Doorbottom repair panel inner, 3 pieces 44,30 ?
 C028d Doorbottom repair panel outer low, front or rear, left or right 29,50 ?
 C029a Door rubberholders, stainless steel 9,10 ?
 C029b Door sealing rubber horizontal, front or rear, left or right 14,30 ?
 C029 Door rubberholders all types, inside, front or rear, left or right 6,20 ?
 C030a Door plugs round set of 8 pcs., 2 pcs a door 15,90 ?
 C030b Frontdoor plug, small 0,90 ?
 C030c Rubber bumper front door 2,30 ?
 C030z Sealing strip for glass outside non-original, front or rear 12,50 ?
 C030 Oval door rubbers set of 8 pcs., 2 pcs. a door 15,90 ?
 C031a Clamps for sealing strip outside 0,50 ?
 C031b Sealing strip for glass outside, convertible 39,70 ?
 C031c Sealing strip for glass innerside, front or rear 22,00 ?
 C031d Clambs for sealing strip innerside, stainless steel, pr piece 0,50 ?
 C031e Sealing strip for glass innerside, convertible 39,70 ?
 C031f Window guide, 4 or 5 mm. 5,70 ?
 C031g Spring for window handle 2,30 ?
 C031 Sealing strip for glass outside, original, front or rear 17,50 ?
 C032b Door handle innerside, chrome, front or rear 49,90 ?
 C032c Rubber seal doorhandle innerside 2,30 ?
 C032d Rubber seal doorhandle outside, -> '71 2,30 ?
 C032e Mounting rubber doorhandle innerside 0,70 ?
 C032f Grey seal doorhandle outside, '71 -> 9,10 ?
 C032 Door handle outside, stainless steel, -> '71 6,80 ?
 C033a Door locks, '71 -> 20,40 ?
 C033b Lock ring tagget, for lock catcher 0,20 ?
 C033c Lock catcher Old type only left 23,80 ?
 C033 Door locks, -> '71 20,40 ?
 C034 Door plastic innerside, set for 4 doors 14,80 ?
 C036a Closing panel in front wheel arch, plastic, left or right 34,10 ?
 C036c Closing panel half arms, left or right 19,80 ?
 C036d Closing panel hydraulics, front right 43,10 ?
 C036 Closing panel in front wheel arch, steel, left or right 44,30 ?
 C037z Frontwing rep. Part, under front light 56,70 ?
 C037 Boot lid plastic 197,40 ?
 C038 Repair panel front wing outside, left or right 14,80 ?
 C039a Mounting rubber front wing 3,90 ?
 C039b Rubber cover for fixtures front wing 2,30 ?
 C039c Bonnet closing mechanism in front wing 30,00 ?
 C039d Rubber on bonnet hinge mechanism 1,00 ?
 C039 Repair panel front wing innerside, left or right 26,10 ?
 C040a Rear wing polyester, left or right 170,20 ?
 C040b Vertical rubber on closing panel rear wing 4,60 ?
 C040c Closing panel repair part rear wing, left or right 34,10 ?
 C040 Rear wing repair panel, left or right 79,40 ?
 C041 Rear wing mounting pin, stainless steel 10,30 ?
 C042a Rear wing mounting bracket, steel 6,20 ?
 C042b Rear wing mounting bracket rubber oval 2,30 ?
 C042c Rear wing mounting bracket rubber square/trap 2,30 ?
 C042 Rear wing mounting bracket, stainless steel 6,20 ?
 C043 Plastic washer under rear wing fixing bolt 1,80 ?
 C044 Stainless steel sill cover plates (polished or brush) 106,70 ?
 C045 SS sill cover plates (Safari or Cabrio) 111,20 ?
 C047a Pallas door embellisher single 38,60 ?
 C047 Pallas door embellishers (set of 8) 174,40 ?
 C048a Sealing tape for door embellishers p.m. 1,60 ?



 C048 Non-pallas door embellishers (set of 8) 174,40 ?
 C049a Plastic clambs for door emb. small 100 pcs. 21,60 ?
 C049b Door embellishers Pallas small complete set 224,60 ?
 C049c Door embellishers Pallas small lower 8 pcs. 147,50 ?
 C049d Door embellishers Pallas small upper 6 pcs. 111,20 ?
 C049 Rubber for door embellishers p.m. 11,80 ?
 C051a Front finishing panel DS 147,50 ?
 C053a Windscreen triplex non-tinted DS 106,70 ?
 C053b Rear window heated, tinted DS 215,60 ?
 C053c Glass for door, tinted, 5 mm. F/B, L/R 52,20 ?
 C053d Rear window heated, non-tinted DS 215,60 ?
 C053e Rear side window Safari tinted, L or R 56,70 ?
 C053 Windscreen triplex tinted DS 133,90 ?
 C054 Rubber under windscreen 17,50 ?
 C055b Rear window rubber quarter panel Safari grey 47,70 ?
 C055d Closing rubber rear door Safari 3 pcs 47,70 ?
 C055e Rubberholder lower rear door Safari 12,50 ?
 C055f Rubberholder chassis rear door Safari p.m. 12,50 ?
 C055 Windscreen rubber DS black or grey 35,20 ?
 C056 Roofrubber for polyester or Alum. roof (Berline) 20,40 ?
 C057a Roofrubber above rear window, sponge 11,40 ?
 C057b Puraflex roof kit, tube 310 cc 13,00 ?
 C057 Roofrubber for bonded roof berline 16,60 ?
 C058a Roof repairlist above windscreen upper 115,70 ?
 C058b Roof repairlist above windscreen lower part 44,30 ?
 C058 Roofrubber Safari 26,10 ?
 C059a Door mirror small Pallas L or R 35,20 ?
 C059b Sticker interiormirror black to prevent the sun from burning tape! 1,80 ?
 C059c Door mirror Aluminum large L 27,30 ?
 C059d Rear window sticker, Citroën prefere TOTAL 5,70 ?
 C059 Door mirror SS '71 -> L or R 27,30 ?
 C061a Chassis and front wing rubbers, 10 pcs. 18,80 ?
 C061b Rubber between frontwing and wheelarch 3,90 ?
 C061 Vert. door and rearwing rubber 8,40 ?
 C062a Frontwing, bonnet rubber -> '65 15,90 ?
 C062 Frontwing, bonnet rubber 2 pcs. 2.6 m., NT 15,90 ?
 C063a Clamps for body rubber flaps, 10 pcs. 4,50 ?
 C063 Body rubber flaps (set) 65,80 ?
 C064a Petroltube on filler neck between tank and fillertube 10,20 ?
 C064b Spring for lid for filler tube 3,10 ?
 C064g Fuel tube hole rubber rightside black or grey 6,80 ?
 C064 Rubber bumper for petrol filler flap 1,60 ?
 C066 Fresh air tube in front wing (diam. 85mm) 11,40 ?
 C067a Fresh air tube in front wing -> '67 (103mm) 18,20 ?
 C067b Fresh air tube cover silver 8,00 ?
 C067 Fresh air tube in front wing (diam. 103mm) 11,40 ?
 C068a Radiator tunnel cover -> '65 42,00 ?
 C068b Radiator tunnel cover Injection 42,00 ?
 C068c Radiator tunnel carb. '66-> 42,00 ?
 C068d Radiator tunnel rubber 4,80 ?
 C086 Bonnet handle chrome GH '67 -> 63,40 ?
 C087 Fuel filler cap Jaeger 9,10 ?
 C092 Boot lid spring 3,40 ?
 C095b Chevrons chrome original 20,40 ?
 C095c Chevrons gold or chrome self adhesive 13,60 ?
 C095d Clip for chevron or monogram 0,20 ?
 C095 Monogram DSuper 13,00 ?
 C096a Windscreen washer rubber for nozzle 1,30 ?
 C096b Stop for windscreen wiper blades, OT 6,80 ?
 C096c Pump for windscreen washer 25,00 ?
 C096f Nozzle hose small p.m. 1,30 ?
 C096g Nozzle hose large p.m. 1,80 ?
 C096h Rubber nozzle hose 1,20 ?
 C096 Windscreen wiper blades set 11,40 ?
 C097a Windscreen washer tank '62-'68 18,80 ?
 C097 Windscreen washer tank (last model) org. 27,30 ?
 C098 Rear windscreen rubber down 20,40 ?
 C099 Rubber on sill gray (set of 4) 45,40 ?



 C100 Rubber between frontwing and bumper 9,10 ?
 C101a Wheelcover Non Pallas New type 231,60 ?
 C101b Wheelcover assembly spring 3,00 ?
 C101c Wheelcover assembly rubber 0,90 ?
 C101 Wheelcover Pallas New type 245,20 ?
 C105a Plastic plug for door panel clip, 10 pcs. 4,50 ?
 C105 Clip for door panel (metal), 10 pcs. 4,50 ?
 C106 Spoilers for side windscreen (set of 2) 49,90 ?
 C108 Sponge rubber for closing panels 4 m. 17,50 ?
 C109 Closing panel of the sill 12,50 ?
 C110b Repair bracket front wing 15,90 ?
 C110 Connection bracket betw. frontwing and bumper 15,90 ?
 C112 Closing rubber for rear indicator 1,80 ?
 C113a Spare tire belts 155/165 x 15'' tire 23,40 ?
 C113b Spare tire belts 180/185 x 15'' tire 23,40 ?
 C113 Spare tire belts 165x400 tire 23,40 ?
 C114 Z-rubber for closing panel 3.8 m. 17,50 ?
 C116 Sealing plug rubber for boot 2,50 ?
 C117 Opener for the bonnet 6,40 ?
 C118 Tube for cables headlight correction 23,40 ?
 C119a Clip for plastic bearing headlight height corr. 2,30 ?
 C119b Spring for headlight height corr. 4,60 ?
 C119 Cables headlight correction 2 pcs 12,50 ?
 C122a Rubber holder C-pillar 5,70 ?
 C122 C-pillar rubber low 5,70 ?
 C123 B-pillar rubber low 6,80 ?
 C124 Sealing sleeve accelerator control 5,70 ?
 C125a Sealing sleeve for wiring (frontwing) 12mm 1,20 ?
 C125b Rubber grommet for the bonnet stay 1,70 ?
 C125c Rubber under 'window lowering lever' 1,40 ?
 C126a Tow bar DS Safari Brink 1500 kgf 224,60 ?
 C126 Tow bar DS Saloon Brink 1500 kgf 167,90 ?
 C127 Counter plate rear wing Safari 28,40 ?
 C128a Washer M7 wide original, 10 pcs. 1,50 ?
 C128b Washer M7 narrow original, 10 pcs. 1,50 ?
 C128c Washer M7, 10 pcs. 1,00 ?
 C128 Nut M7, 10 pcs. 1,50 ?
 C129a Bolt M5 x 16, 10 pcs. 1,50 ?
 C129b Bolt M5 x 12, 10 pcs. 1,50 ?
 C129c Bolt M5 x 16 SS , 10 pcs. 2,50 ?
 C129d Bolt M5 x 12 SS, 10 pcs. 2,50 ?
 C129 Bolt M5 x 30, 10 pcs. 1,50 ?
 C130a Bolt M7 x 20, 10 pcs. 3,00 ?
 C130 Bolt M7 x 40, 10 pcs. 3,00 ?
 C131a Washer M5, 20 pcs. 1,00 ?
 C131b Cagemutter M5 brass 10 pcs. 7,00 ?
 C131c Original ring M5 wide 1,50 ?
 C131d Original ring M5 small 1,50 ?
 C131 Nut M5, 10 pcs. 1,50 ?
 C133a All 12 nuts for the Safari luggage rack 22,70 ?
 C133b Gummi set for the Safari luggage rack 59,00 ?
 C133 Spring for luggage rack rod Safari 1,80 ?
 C136 Roof antenna 12,50 ?
 C137b Bumperrose in the front middle SS 25,00 ?
 C138a Bumperpart upper rear polished 115,70 ?
 C138b Bumperrose rear left or right polished 57,90 ?
 E005b Headlight unit, H4, -> '67 47,70 ?
 E005c Nylon end piece for headlamps device, '68 -> 6,80 ?
 E005e Headlight unit Duplo, SEV Marchal 49,90 ?
 E005f Headlight damper unit 23,40 ?
 E005 Headlight unit, H1, -> '67 with movement 45,40 ?
 E007a Indicator for old nose, plastic Left 56,70 ?
 E007b Indicator for old nose, stainless steel, L or R, -> '65 79,40 ?
 E008a Rustfree cover for indicator DS front L or R 21,60 ?
 E008 Cover for indicator DS front, L or R, '68 -> 23,80 ?
 E009a Bracket for indicator rear, SS 13,00 ?
 E009b Rubber for lampholder rear indicator, DS Saloon 7,10 ?
 E009c Indicator cover for cab. Rear 79,40 ?



 E009 Cover for indicator DS Berline rear 12,50 ?
 E010a Cover for interior lamp Safari (break) rear 9,80 ?
 E011b Relay for indicator switch, '67 -> 12,10 ?
 E011c Relay for indicator switch, 3 wires, '67 -> 17,00 ?
 E012 Light switch 35,20 ?
 E027 Pallas rear light cap, original, '69 -> 79,40 ?
 E030a Rear light cap Non Pallas last modell 68,10 ?
 E030 Rear light complete, non-Pallas, '72 -> (last model) 88,50 ?
 E032a H4 bulb yellow, 55 Watt 7,50 ?
 E032b H4 bulb white, 55 Watt 6,20 ?
 E032c Yellow bulb, 45 Watt 4,30 ?
 E032d White bulb, 45 Watt 1,70 ?
 E032e White bulb, 10 Watt 1,20 ?
 E032f Park light bulb 1,30 ?
 E032g Lamp for revers/license plate 5 Watt 1,50 ?
 E032j Indicator lamp 21 Watt 1,50 ?
 E032k Brakelight bulb 15 Watt 1,40 ?
 E032l Duplo light bulb with 3 connect. Bajonet 3,40 ?
 E032 H1 bulb white, 55 Watt 3,40 ?

Brakes

 A012 Brake discs, set, '65 -> 68,10 ?
 A014 Brake pads, -> '65 49,90 ?
 A015a Brake pads, Textar 108,90 ?
 A015b Grinding blocks for brake discs 104,40 ?
 A015 Brake pads, '65 -> 56,80 ?
 A017 Handbrake pads, org. Citroën 34,10 ?
 A019 Handbrake pad spring 0,90 ?
 A020a Handbrake handle, plastic 12,10 ?
 A020b Handbrake cable, old type 23,40 ?
 A020 Handbrake cable, all types, '65 -> 30,70 ?
 A021 Brake caliper mounting rubber 5,70 ?
 A048 Brake shoes back, DS Saloon 39,80 ?
 A049 Brake shoes back, DS Safari, set of four 47,70 ?
 C120 Clutch pedal pad small or large 9,10 ?
 C121a Circular mushroom brake pedal pad 11,60 ?
 C121b Hand brake pedal pad 9,10 ?
 C121 Brake pedal pad 9,10 ?
 D-419 Rear brakeshoe DS Break 65,60 ?
 D-420 DS451016A Rear brakeshoe DS 61,80 ?
 D-647 5441051 Front brakepads DS Textar/valeo 121,50 ?
 D-720 5403825 Handbrakpads set DS gk 58,10 ?
 D-827 95663073 Front brakepads DS gk 75,60 ?
 E-512 96085783 Hydraulic tube rubber 6,35/12 mm LHM 1,00 ?
 E-698 8,5 meters hydraulic tube D6,35mm 58,30 ?
 E-826 5405273 Front brakedisc DS (price pr. piece!) 52,50 ?
 E013 Switch for brake light DS (DV/DY) 5,70 ?
 H008 Brake accumulator DS, 40 bar, 2-holes, LHS 61,30 ?
 H009 Brake accumulator DS, 40 bar, 3-holes, LHS 61,30 ?
 H020 Brake accumulator DS, 40 bar, 2-holes, LHM 49,90 ?
 H021 Brake accumulator DS, 40 bar, 3-holes, LHM 49,90 ?
 H080 Brake caliper, LHM 97,60 ?
 H081a Brake caliper, ->'65, LHS, new pistons 260,90 ?
 H081b Brake segment, ->'65, LHS, new pistons 143,00 ?
 H081 Brake caliper (last model), LHS 111,20 ?
 H082a Rebuildkit brake caliper, ->'65, 2 sets, LHS 9,10 ?
 H082b O-ring for the air valve 0,90 ?
 H082 Rebuildkit brake caliper (1 set), new type 17,00 ?
 H083a Rear brake cyl. safari (break), LHM 52,20 ?
 H083b Rear brake cyl. berline, LHS 47,70 ?
 H083c Rear brake cyl. safari (break), LHS 63,60 ?
 H083d Rebuildkit rear brake cyl. berline (break) 15,90 ?
 H083e Rebuildkit rear brake cyl. safari (break) 20,40 ?
 H083 Rear brake cyl. berline, LHM 36,30 ?
 H098 Rubber dust cover for aluminium main brake cylinder 8,40 ?
 H099 Rubber dust cover for steel main brake cylinder 13,00 ?
 H115a Fluid seal, 6,35 mm, for brake acc., LHM 1,60 ?
 H137 Brake valve aluminium, LHS 93,00 ?
 H138 Brake valve aluminium, LHM 79,40 ?



 H139 Brake valve steel, LHM 102,10 ?
 H145a Connecting tube for flex. rear brake pipe, left 15,90 ?
 H145c Nut for flexible brake pipe 1,80 ?
 H145d Mounting brackets for flexible brake pipe, 2 pc. 19,30 ?
 H145e Flexible brake pipe, LHS 31,80 ?
 H145f Brake pipe, 50 cm 9,10 ?
 H145 Flexible rear brake pipe, LHM 26,10 ?

Chassis

 C003a Repair panel rear part innerwing, left or right 30,70 ?
 C003b Repair panel lower part innerwing, left or right 30,70 ?
 C003 Innerwing DS berline, left or right 220,10 ?
 C004b Adjusting bracket repair pin 16,60 ?
 C004 Rear bumper support, left or right 21,10 ?
 C006a Gusset for shelf (above innerwing rear), left or right 17,00 ?
 C006 Triangular reinforcement on innerwing, left or right 13,00 ?
 C008b Outside rim raingutter 5,70 ?
 C008 Raingutters, set 29,50 ?
 C010a Elephant's ear rubber, left 4,60 ?
 C010 Elephant's ear, left 23,80 ?
 C011a Elephant's ear rubber, right 4,60 ?
 C011z Rearpanel complete powdercoated black 181,50 ?
 C011 Elephant's ear, right 39,70 ?
 C012a Support plate rear wing, 2 pieces 16,60 ?
 C012 Rearpanel complete sinc plated 172,50 ?
 C013 Rearpanel sides, left or right 17,00 ?
 C014 Rubberholder rear panel 9,10 ?
 C015 Rearpanel Z -profile 10,20 ?
 C017a Boot floor panel original shape 70,40 ?
 C017 Boot floor panel 47,70 ?
 C018a Floor panel 1.3 x 1.4m original shape 612,60 ?
 C018b Petrol tank floor panel original shape 295,00 ?
 C018c Panel under rear axle 79,40 ?
 C018 Petrol tank floor panel 63,60 ?
 C019a Vertical inner sill L- profile, left or right 8,00 ?
 C019b Horizontal sill, Safari (break), left or right 36,30 ?
 C019 Horizontal sill, Berline, left or right 29,50 ?
 C020a Reinforcement horizontal sill, Safari (Break), left or right 19,30 ?
 C020 Reinforcement horizontal sill, Berline, left or right 14,80 ?
 C021a Vertical sill outside, Safari (Break), left or right 19,30 ?
 C021 Vertical sill outside, Berline, left or right 17,00 ?
 C022a Front jacking point 44,30 ?
 C022 Jacking point reinforcement 4,60 ?
 C023a Bottem plug per piece 3,00 ?
 C023 Floor reinforcement panel rear 4,60 ?
 C028a Door bottom repair panel outer all types, front or rear, left or right 30,70 ?
 C028c Doorbottom repair panel inner, 3 pieces 44,30 ?
 C028d Doorbottom repair panel outer low, front or rear, left or right 29,50 ?
 C029a Door rubberholders, stainless steel 9,10 ?
 C029 Door rubberholders all types, inside, front or rear, left or right 6,20 ?
 C038 Repair panel front wing outside, left or right 14,80 ?
 C039 Repair panel front wing innerside, left or right 26,10 ?
 C040c Closing panel repair part rear wing, left or right 34,10 ?
 C040 Rear wing repair panel, left or right 79,40 ?
 C044 Stainless steel sill cover plates (polished or brush) 106,70 ?
 C045 SS sill cover plates (Safari or Cabrio) 111,20 ?
 C047a Pallas door embellisher single 38,60 ?
 C047 Pallas door embellishers (set of 8) 174,40 ?
 C048a Sealing tape for door embellishers p.m. 1,60 ?
 C048 Non-pallas door embellishers (set of 8) 174,40 ?
 C049a Plastic clambs for door emb. small 100 pcs. 21,60 ?
 C049b Door embellishers Pallas small complete set 224,60 ?
 C049c Door embellishers Pallas small lower 8 pcs. 147,50 ?
 C049d Door embellishers Pallas small upper 6 pcs. 111,20 ?
 C049 Rubber for door embellishers p.m. 11,80 ?
 C051a Front finishing panel DS 147,50 ?
 C055c Repair panels quarter panel Saf. 4 pcs L or R 61,30 ?
 C055e Rubberholder lower rear door Safari 12,50 ?
 C055f Rubberholder chassis rear door Safari p.m. 12,50 ?



 C058a Roof repairlist above windscreen upper 115,70 ?
 C058b Roof repairlist above windscreen lower part 44,30 ?
 C061a Chassis and front wing rubbers, 10 pcs. 18,80 ?
 C061b Rubber between frontwing and wheelarch 3,90 ?
 C086 Bonnet handle chrome GH '67 -> 63,40 ?
 C087 Fuel filler cap Jaeger 9,10 ?
 C091 C- pillar repair panel L or R 35,20 ?
 C095b Chevrons chrome original 20,40 ?
 C095c Chevrons gold or chrome self adhesive 13,60 ?
 C095d Clip for chevron or monogram 0,20 ?
 C095 Monogram DSuper 13,00 ?
 C099 Rubber on sill gray (set of 4) 45,40 ?
 C100 Rubber between frontwing and bumper 9,10 ?
 C108 Sponge rubber for closing panels 4 m. 17,50 ?
 C109 Closing panel of the sill 12,50 ?
 C110b Repair bracket front wing 15,90 ?
 C114 Z-rubber for closing panel 3.8 m. 17,50 ?
 C115 Sealing plug for floor 2,50 ?
 C116 Sealing plug rubber for boot 2,50 ?
 C118 Tube for cables headlight correction 23,40 ?
 C119a Clip for plastic bearing headlight height corr. 2,30 ?
 C119b Spring for headlight height corr. 4,60 ?
 C119 Cables headlight correction 2 pcs 12,50 ?
 C122a Rubber holder C-pillar 5,70 ?
 C122 C-pillar rubber low 5,70 ?
 C123a Rubber holder B-pillar 4,60 ?
 C123 B-pillar rubber low 6,80 ?

Clutch

 A001 Clutch driven plate, Textar, ->'65 61,30 ?
 A002a Clutch driven plate, Valeo, '65 -> 81,70 ?
 A002 Clutch driven plate, Ferodo, '65 -> 61,30 ?
 A003 Pressure plate, finger, -> '65 111,20 ?
 A004a Pressure plate, finger, '65 - '71 99,90 ?
 A005 Pressure plate diaphragm, '71 -> 68,10 ?
 A006 Ball thrust bearing, -> '65 54,50 ?
 A007a Lever for push rod DV, clutch, ID19B/DSpec, -> '71 11,40 ?
 A007b Bearing for release bearing, '65 -> '71 29,50 ?
 A007c Lever for push rod big, '71 -> 11,40 ?
 A007d Bearing for clutch lever 3,90 ?
 A007z Spring for pressure bearing diafragm. 1,20 ?
 A007 Ball thrust bearing for finger press plate 52,20 ?
 A008a Ball bearing in flywheel, 6302ZZ 7,50 ?
 A008 Release bearing for diaphragm, orig. Citroën 43,20 ?
 A010a Clutch cable, l = 495 mm, '62 - '65 23,40 ?
 A010b Flexible drive for 4 or 5 speed gearb., upper part, nieuw type 18,90 ?
 A010c Flexible drive for 4 or 5 speed gearb., lower part 18,90 ?
 A010 Clutch cable carb. or inj., four different types, '66 -> 23,40 ?
 A022 Tripode with bearings, high model, '65 -> 238,30 ?
 A023 Tripode dustcover, '65 -> 15,90 ?
 A024 Tripode dustcover for aluminium housing 14,80 ?
 A025 Tripode dustcover, -> '65 14,80 ?
 A026 Drive shaft, -> '65 179,30 ?
 A027a Drive shaft, '65 -> 206,50 ?
 A027d Plastic cover drive shaft bearing, '65 -> 2,10 ?
 A027e Drive shaft anti vibration rubber, '65 -> 11,60 ?
 A028 Drive shaft dust cover wheelside 12,50 ?
 A054 Mounting rubber +nylon bush. for gearbox relay 8,00 ?
 A055 Clutch arm fork rubber 11,60 ?
 A056 Shift stick rubber, '65 -> 11,60 ?
 A057 Clutch cable Olt type orig. 27,30 ?
 C120 Clutch pedal pad small or large 9,10 ?
 H065 Clutch cylinder carburettor, LHM 65,80 ?
 H066 Clutch cylinder carburettor, LHS 79,40 ?
 H067a Rebuildkit clutch cylinder with spring, LHM 19,30 ?
 H067b Dust cover clutch cylinder large or small 13,00 ?
 H067d O-ring clutch cylinder 6,20 ?
 H067 Clutch cylinder injection, LHM 79,40 ?
 H068 Clutch reengagement control for carb-engines, LHM 106,70 ?



 H069 Clutch reengagement control for injection engines, LHM 106,70 ?
 H070a O-ring clutch reengagement control 1,20 ?
 H070 Clutch reengagement control for carb.-engines, LHS 129,40 ?
 H071a Rebuildkit centrifugal regulator, LHM/LHS 45,20 ?
 H071 Centrifugal regulator carb. and inj., LHM 120,30 ?
 H072 Centrifugal regulator LHS 131,60 ?
 H073a Hydraulic bloc, LHM 133,90 ?
 H073b Hydraulic bloc, LHS 156,60 ?
 H073 Silent bloc centrifugal regulator 8,90 ?
 J-828 2055G5 Clutch set to CX 25 ie 76,70 ?
 J-831 Clutch kit DS diafragma 230,80 ?
 M028a Support rubber above gearbox (2 half shelves) 21,60 ?
 M056 Gearbox oil, SAE 90, 1 litre 4,30 ?

Cooling System

 V-481 Thermostat DS19/21 15,10 ?
 V-482 Thermostat DS 23 12,10 ?
 V-630 NML Waterpump ID/DS 76,00 ?

Engine

 A-726 5413615 Oilpressure transmitter DS 8,40 ?
 A008a Ball bearing in flywheel, 6302ZZ 7,50 ?
 A009a Ball bearing camshaft 7,50 ?
 A009 Oil seal camshaft 4,60 ?
 C064a Petroltube on filler neck between tank and fillertube 10,20 ?
 C064c Fuel tube original 7 mm 4,60 ?
 C064d Fuel tube for LPG cars 7 mm 5,70 ?
 C064e Fuel tube nylon 8 x 6 p.m. 5,00 ?
 C064g Fuel tube hole rubber rightside black or grey 6,80 ?
 C066 Fresh air tube in front wing (diam. 85mm) 11,40 ?
 C067a Fresh air tube in front wing -> '67 (103mm) 18,20 ?
 C067b Fresh air tube cover silver 8,00 ?
 C067d Sponge rubber around heater inlet 4,80 ?
 C067 Fresh air tube in front wing (diam. 103mm) 11,40 ?
 C068a Radiator tunnel cover -> '65 42,00 ?
 C068b Radiator tunnel cover Injection 42,00 ?
 C068c Radiator tunnel carb. '66-> 42,00 ?
 C068d Radiator tunnel rubber 4,80 ?
 C087 Fuel filler cap Jaeger 9,10 ?
 C089 Steering wheel new black foam DS 197,40 ?
 C096a Windscreen washer rubber for nozzle 1,30 ?
 C097a Windscreen washer tank '62-'68 18,80 ?
 C097 Windscreen washer tank (last model) org. 27,30 ?
 C113 Spare tire belts 165x400 tire 23,40 ?
 C120 Clutch pedal pad small or large 9,10 ?
 C124 Sealing sleeve accelerator control 5,70 ?
 E000 Starter DS, all types, 9 teeth, Valeo 163,40 ?
 E001a Starter DS, all types, Bendix, 10 teeth 179,30 ?
 E001b Spring for starter engine, round, Ducellier, -> '68 12,50 ?
 E001c Bendix 9 teeth for Ducellier, '65 -> 31,80 ?
 E001d Spring for Bendix Paris-Rhone, flat, -> '68 16,60 ?
 E001 Starter DS, all types, Bendix, 9 teeth 147,50 ?
 E002 Alternator with new windings 179,30 ?
 E003a Alternator, -> '67 167,70 ?
 E003 Alternator, '67 -> 147,50 ?
 E004a Earth cable, battery on right side 12,50 ?
 E004b Earth cable with 2 wires for battery on left side 16,10 ?
 E004c Cablebundle DS19 '68, 3 relais (all types available) 270,00 ?
 E004d Injection cable 12 pins 72,60 ?
 E004e Cover injection plug 9,10 ?
 E004 Starter relay, short wire, '65 -> 56,70 ?
 E015a Sparkplug protection tube 2,30 ?
 E015b Plug on scuttle 3,40 ?
 E015 Sparkplug DS, Eyquem 2,00 ?
 E016a Sparkplug leads, injection 22,00 ?
 E016 Sparkplug leads, 67 -> 19,30 ?
 E017a Distributor cap, Ducellier, flat 11,40 ?
 E017b Distributor cap, Ducellier with contact on top 6,80 ?
 E017c Distributor cap, SEV with contact on top 9,10 ?



 E017d Distributor cap, Bosch injection 11,40 ?
 E017e Distributor cap SEV handmodel 15,90 ?
 E017f Distributor cap SEV cassette 11,40 ?
 E017h Distributor cap SEV upper connection, -> 65 11,40 ?
 E018a Rotor Ducellier 5,70 ?
 E018b Rotor Bosch for injection 5,70 ?
 E018c Rotor SEV, all types 9,10 ?
 E018d Rotor SEV springing OT 9,10 ?
 E018e Rotor SEV for cassette 9,10 ?
 E019a Points, Ducellier 4,60 ?
 E019b Points, SEV, small, 65 -> 11,40 ?
 E019c Points, Bosch, injection (left or right mounted) 5,70 ?
 E019e Points, Ducellier, -> '65 6,80 ?
 E019f Points SEV, -> 65 9,10 ?
 E020 Points, SEV, DS 17,00 ?
 E021 Simmering ignition housing 2,10 ?
 E022a Chopper set electr. ign. Lumenition 18,20 ?
 E022b Optical switch (Lumenition system) 81,70 ?
 E022 Electronic ignition Lumenition DS div. 194,00 ?
 E023b Constant Energy Kit DS (Lumenition system) 270,00 ?
 E024 Distributor, SEV, '66 - '71 102,10 ?
 E025 Coil, 12 Volt, Ducellier, with or without resistance 34,10 ?
 E026a Spring for battery holder 1,80 ?
 E028b Condenser, Bosch for injection 5,70 ?
 E028c Condenser SEV cassette 5,70 ?
 E028 Condenser, Ducellier / SEV 3,00 ?
 E031 Alternator regulator, electronic, '65 -> 88,50 ?
 E033 Fusible 20 A, 10 pieces 1,40 ?
 E034 Ignition gauge 21,10 ?
 H134b Rubberbend for returnhose 9,80 ?
 H134c Insert for rubberbend front (4&7) 3,90 ?
 H134d Insert for rubberbend rear (4&4) 3,90 ?
 H141 Sticker LHM, antigel or oil 1,20 ?
 M001a Piston ring set, 78 mm, -> '65 62,40 ?
 M001 Pistons & liners ID19/DS19, -> '65 388,00 ?
 M003a Piston ring set, 86 mm 69,30 ?
 M003 Pistons & liners ID19B/DS20, 86 mm 388,00 ?
 M004a Piston ring set, 90 mm 76,10 ?
 M004z Piston ring set DS23, 93,5 mm 84,00 ?
 M004 Pistons & liners DS21, 90 mm 419,80 ?
 M005a Crankshaft bearing standard, new type 34,10 ?
 M005b Big end bearings standard, new type 34,10 ?
 M005c Crankshaft bearing standard or +0,25 mm, old type 61,30 ?
 M005d Big end bearing standard or + 0,25 mm, old type 61,30 ?
 M005e Half-cheek, upper and lower, new type 21,60 ?
 M005f Crankshaft bearing 0,25 mm 38,60 ?
 M005g Big end bearing +0,25 mm 38,60 ?
 M005 Pistons & liners DS23, 93,5 mm 419,80 ?
 M006a Intake valves DS, set of 4, multiple types 49,90 ?
 M006b Exhaust valves DS, set of 4, multiple types 61,30 ?
 M006c Valve seals, set of 8 18,20 ?
 M006d Exhaust manifold stud M8 x 45 mm 1,40 ?
 M006e Intake manifold stud M7 x 38 1,40 ?
 M006f Nut for M7 or M8 stud self-locker 0,50 ?
 M006g Exhaust valve DS injection, 4 pcs. 102,10 ?
 M006h Injector rubber 1,40 ?
 M007 Headgasket set ID19/DS19 ->'65 79,40 ?
 M008 Headgasket set DV, DY: ID19B/DS19A-MA, sept. '65-'68 47,70 ?
 M009 Headgasket set DV2: ID19B/DS20/DSpec/DSup '68 ->, DV3,DY2,DY3,DX: 

ID21F/DS21/DS21M sept '65-'68
49,90 ?

 M010 Headgasket set DX2: DS 21/ID21/D Super 5 '68 -> 52,20 ?
 M011 Headgasket set DX3: DS21 inj. '68 -> 56,70 ?
 M012a Headgasket as a single part, multiple types 20,40 ?
 M012b Headgasket single part, DS 23 20,40 ?
 M012 Headgasket set DX4,DX5: DS23/DS23 inj. 56,70 ?
 M015 Enginegasket set DV,DY: ID19B/DS19A-MA, sept '65-'68 56,70 ?
 M016 Enginegasket set DV2: ID19B/DS20/DSpec/DSup '68->, 

DV3,DY2,DY3,DX: ID21F/DS21/DS21M sept '65-'68
56,70 ?

 M017 Enginegasket set DX2: DS21/DSuper5, '68 -> 59,00 ?



 M018 Enginegasket set DX3: DS21 inj. '68 -> 62,40 ?
 M019a Rocker cover gasket DS, -> '65 7,50 ?
 M019b Rubber return pipe upper part from sump to carburettor 7,50 ?
 M019c Rubber return pipe lower part from sump to carburettor 8,90 ?
 M019z Rubber oil filler cap 4,60 ?
 M019 Enginegasket set DX4,DX5: DS23, 23inj 62,40 ?
 M020a Rocker cover connecting rubber with airintake 9,10 ?
 M020b Air intake support rubbers, set of 3 2,60 ?
 M020c Air intake sticker (for black air intake) 4,60 ?
 M020d Air intake rubber for airfilter 13,00 ?
 M020e Air intake sticker (for grey air intake) 3,10 ?
 M020g Air intake sticker (for grey air intake), old type 3,10 ?
 M020 Rocker cover gasket DS, '65 -> 6,80 ?
 M022 Plug shaft sealing ring 0,90 ?
 M023a Oil filter gasket 1,70 ?
 M023b O-ring oil filter small 1,40 ?
 M023c Oil filter cover o-ring, large 4,60 ?
 M023d Oil plug ring copper 0,90 ?
 M023f Oil filter gasket thick 2,10 ?
 M023g Oil filter bowl stepwise 6,60 ?
 M023 Oil filter Purflux 4,80 ?
 M024a Timing chain, old type 31,80 ?
 M024b Gasket for distributor cover, old type 4,60 ?
 M024 Timing chain, new type 31,80 ?
 M025a Gasket for distributor cover, new type 3,10 ?
 M025b Chain limiting device, '65 -> 31,80 ?
 M025y Camshaft, wheel 45,70 ?
 M025z Bushing between valve lift and camshaft 15,90 ?
 M025 Chain tensioner, new type 31,80 ?
 M026a Camshaft, new type 256,40 ?
 M026b Push rod inlet of exhaust, new or old type 15,90 ?
 M026c Exhaust rocker spindle short, new type 26,10 ?
 M026d Inlet rocker spindle long, new type 65,80 ?
 M026 Bushing between valve lift and camshaft orig. 22,50 ?
 M027b Engine support rubber upper 10,20 ?
 M027 Engine support DS, '65 -> 49,90 ?
 M028a Support rubber above gearbox (2 half shelves) 21,60 ?
 M028 Engine support rubber lower 17,00 ?
 M030a Waterpump gasket 2,30 ?
 M030b Waterpump house gasket 1,80 ?
 M030c Water hose heater connection, per m. 4,80 ?
 M030d 26233879 Heater hose cyl. Head - heater carburator 25,00 ?
 M030e DX642285A Heater hose cyl. Head - heater injection 30,00 ?
 M030z Preheater hose (water pump to inlet man.), ID 70-71 18,80 ?
 M030 Waterpump, new type 55,70 ?
 M031a Preheater hose (water pump to inlet man.), ID '66-'69 12,50 ?
 M031b Preheater hose (water pump to inlet man.), old type 12,50 ?
 M031c Watertank silent rubber 6,20 ?
 M031y Lower radiator hose, old type, -> '65 12,50 ?
 M031z Waterhose below water pump, old type, -> '65 10,20 ?
 M031 Preheater hose (water pump to inlet man.), NT 17,50 ?
 M032a Radiator hose upper (for thermostat), old or new type 44,30 ?
 M032b Radiator hose lower (curved) 12,50 ?
 M032c Watertube SS with one or two connections 54,50 ?
 M032d Radiator hose, upper, thermostate in waterpump, new type, '72 -> 46,50 ?
 M032e Radiator hose, upper, thermostate in hose, old type 44,30 ?
 M032f Watertank hose, behind elec.distributor 18,80 ?
 M032g Watertank hose, in front of elec.distributor 18,80 ?
 M032h U-waterhose for injection 17,00 ?
 M032i Preheater hose for air control, injection 18,80 ?
 M032y Chocke cable Weber carburator 23,40 ?
 M032z Revisionset carburettor, multiple types 30,70 ?
 M032 Waterhose below water pump, new type 9,80 ?
 M033a Carburator air intake, -> '65 13,60 ?
 M033b Rubber S-hose for heater, -> '68 11,40 ?
 M033d Heater house rubber 1,30 ?
 M033 Carburettor Solex 34 PBIC, '65 - '68 197,40 ?
 M034 Accelerator rod support, 6 or 8 mm 17,00 ?



 M035b Ring under oil pressure switch 0,80 ?
 M035 Oil pressure switch DS 9,80 ?
 M036a Petrol pump injection 265,50 ?
 M036b Petrol filter for carb. 1,60 ?
 M036c Petrol filter for injection 30,70 ?
 M036e DX174281A Fuel hose regulator Inj. 22,50 ?
 M036f DX174283A Fuelhose connection to tank Inj. 22,50 ?
 M036g DS17482 Fuelhose connection to tank Carb. 15,00 ?
 M036h 5419073 Fuelhose at fuelpump Carb. 15,00 ?
 M036i DS17584A Fueltank vacuum hose nylon 60,00 ?
 M036 Petrol pump NT 38,60 ?
 M037a Gasket exhaust manifold-cylinder head, -> '65 2,50 ?
 M037b Exhaust manifold, 2nd type, '61 - '65 229,20 ?
 M037c Exhaust manifold 3rd type, 4 in 1, '66 - '71 242,80 ?
 M037d Stud M7 manifold, 3rd type 1,30 ?
 M037e Heat shield exhaust (inner) carb., new type 35,20 ?
 M037f Heat shield exhaust (outer) carb., new type 35,20 ?
 M037g Heat shield exhaust (outer) carb., with preheater 35,20 ?
 M037h Heat shield exhaust, inner, injection 35,20 ?
 M037i Heat shield exhaust, inner side, USA version 35,20 ?
 M037 Gasket exhaust manifold-cylinder head, new type 2,50 ?
 M038 Gasket exhaust manifold-downpipes, new type 2,50 ?
 M039a Air-intake hose for oil-cooler, injection, 30 cm 14,30 ?
 M039b Airfilter hose Injection 26,60 ?
 M039c Airfilter hose Injection with aircon. 32,30 ?
 M039d DX144216A U-hose for airslot/switch Inj. 22,50 ?
 M039e DX144218A Airhose inlet throttle switch Inj. 30,00 ?
 M039f DX144243A Airhose inlet max power regulator Inj. 30,00 ?
 M039g 26231609 Airhose inlet pressure switch Inj. 25,00 ?
 M039h 5419316 Plastic 3-way union foor airhose inj. 8,80 ?
 M039 Air-preheaterhose flex, aluminium, 27 cm 6,80 ?
 M040 Thermostat 15,90 ?
 M041 Thermostat, DS21/23, '72 -> 15,90 ?
 M042 Radiator, new bloc, ->'65 170,20 ?
 M043 Radiator, 2 rows, new core, '65 -> 170,20 ?
 M044 Radiator, 3 rows, new core, '65 -> 192,90 ?
 M045a Radiator cap DS, 280 mB or 500 mB, original 12,50 ?
 M045b Radiator support rubber 6,20 ?
 M045 Radiator, DS21/DS23inj, new core 197,40 ?
 M046 Heaterradiator, new core, old type 115,70 ?
 M047 Heater radiator, small, new core, new type 99,90 ?
 M048 Heaterradiator, large, new core, new type 115,70 ?
 M050a Drive-belt waterpump-generator, old type 7,10 ?
 M050 Drive-belt waterpump-generator 7,10 ?
 M051a Drive belt highpressure pump, old type 7,10 ?
 M051 Drive-belt high-pressure pump 7,10 ?
 M052z Support ring temp.switch, injection 1,40 ?
 M052 Drive-belt centrifugal regulator 7,10 ?
 M053a Temperature relay 12,50 ?
 M053b Temperature sender in waterpump housing 12,50 ?
 M053c Ring under temp. switch, injection 1,30 ?
 M053 Temperature switch, injection 11,40 ?

Exhaust

 G-314 U52059 Frontpipe DS double 42,20 ?
 G-315 Assy kit DS 37,90 ?
 G-316 5423644 Rear silencer DS 47,90 ?
 G-317 5429138 Middle pipes DS 28,30 ?
 G-318 DX182905B Double pipes long DS 66,60 ?
 G-319 5429135 Middle silencer DS 90,90 ?
 G-320 DS1824 Flexible tube DS 28,50 ?
 G-321 DV18251 Front pipe DS 22,20 ?
 G-330 Double clamb DS 3,60 ?
 G-331 Double clamb DS 6,30 ?
 M037b Exhaust manifold, 2nd type, '61 - '65 229,20 ?
 M037c Exhaust manifold 3rd type, 4 in 1, '66 - '71 242,80 ?
 M037d Stud M7 manifold, 3rd type 1,30 ?
 M037e Heat shield exhaust (inner) carb., new type 35,20 ?
 M037f Heat shield exhaust (outer) carb., new type 35,20 ?



 M037h Heat shield exhaust, inner, injection 35,20 ?
 M037i Heat shield exhaust, inner side, USA version 35,20 ?
 M038 Gasket exhaust manifold-downpipes, new type 2,50 ?
 U000a Complete exhaust system DS 21/23 249,60 ?
 U001 Front pipe, single, DS, '65 -> 29,50 ?
 U002 Front pipes, double, '65 -> 39,70 ?
 U003 Flexible 34,10 ?
 U004 Transverse box Pallas 81,70 ?
 U005a Single rear pipe, '61 - '65 43,20 ?
 U005 Double rear pipes 43,10 ?
 U006 Intermediate rear pipes, between middle and rear pot 18,20 ?
 U007 Rear box 43,10 ?
 U008a Mounting kit front DS 21,23 15,00 ?
 U008b Clamb, between flex and downpipe 3,90 ?
 U008 Mounting kit front ID 19,20 15,00 ?
 U009a Clamp on transverse box rear 6,80 ?
 U009b Square rubber for hanging transverse box 2,30 ?
 U009 Mounting kit rear 17,90 ?
 U010 Complete exhaust system DS19, with front box, stainless steel, -> '61 798,70 ?
 U011 Complete exhaust system DS19, without front box, stainless steel, ->'61 683,00 ?
 U012 SS Front down pipe with extra box, -> '61 145,20 ?
 U013 SS Front down pipe without extra box, -> '61 90,80 ?
 U014 SS Front transverse box, -> '61 476,50 ?
 U015 SS Double rear tubes, -> '61 161,10 ?
 U016 SS Complete system for DS19, '61 -> '65 664,80 ?
 U017 SS Front down pipe, '61 -> '65 90,80 ?
 U018 SS Flexible, '61 -> '65 119,10 ?
 U019 SS Transverse box, '61 -> '65 431,10 ?
 U020 SS Rear pipe, '61 -> '65 99,90 ?
 U021 SS Compl. system for ID19B, DS19A, DSpécial 721,50 ?
 U022 SS Front down pipe single, '65 -> '71 99,90 ?
 U023 SS Flexible, '65 -> '75 119,10 ?
 U024 SS Transverse box, '65 -> '75 444,70 ?
 U025 SS Double rear pipes, '65 -> '75 161,10 ?
 U026a SS Complete system for DS21/23 925,70 ?
 U026 SS Compl. system for DS21/23 without downpipe 787,30 ?
 U027 SS Front down pipe double, '65 -> '75 154,30 ?
 U028 SS Intermediate pipes (set), '65 -> '75 104,40 ?
 U029 SS rear silencer, '65 -> '75 219,00 ?
 U035a SS clamb for transverse box/flexible DS 15,20 ?
 U035b SS clamb for rear pipes end 2 pieces 19,80 ?
 U035 Mounting kit special for SS system for DS 59,00 ?
 U038 Exhaust kit 6,80 ?

Filters

 B-826 5414484 Oilfilter LS108 DS purflux 5,90 ?

Fuel Pump

 V-828 5447891 Fuelpump DS Valeo 30,90 ?

Gaskets

 106.0165 Head gasket kit ID 19-ID 20 51,50 ?
 106.0170 ZC 900 0336 U Head gasket kit DS 21 47,60 ?
 106.0175 5 439 897 Head gasket kit DS 23 58,50 ?
 106.0250 0209.K3 Head gasket ID-DS 15,10 ?
 106.0260 0209 K4 Head gasket ID/CX 2200/2400 19,00 ?
 A-330 5500449 Rocker cover gasket DS/CX24/25 ie + Turbo 6,50 ?
 A-427 0209K2 Headgasket DS 21 Glazer 30,20 ?
 A-526 5439897 Headgasket set DS23 Glazer 62,30 ?
 A-527 ZC9000336U Headgasket set DS21 Glazer 51,60 ?
 B-805 5412823 Oilfilter gasket DS 3,80 ?

Hydraulics

 C009a Cover plate for height corrector rear, stainless steel 35,20 ?
 C009 Cover plate for height corrector rear 26,10 ?
 C125 Sealing sleeve hight corrector control 6,20 ?
 H000a Diaphragm main accumulator, small, LHS 30,70 ?
 H000b Diaphragm sphere, large, LHS 30,70 ?
 H000c Diaphragm main accumulator, small, LHM 23,40 ?
 H000d Diaphragm sphere, large, LHM 23,40 ?



 H001 Frontsphere DS, 59 bar, LHS 61,30 ?
 H003 Rearsphere DS, 26 bar, LHS 61,30 ?
 H005 Rearsphere DS Safari (Break), 37 bar, LHS 61,30 ?
 H007 Main accumulator DS, 65 bar, LHS 61,30 ?
 H008 Brake accumulator DS, 40 bar, 2-holes, LHS 61,30 ?
 H009 Brake accumulator DS, 40 bar, 3-holes, LHS 61,30 ?
 H010a Frontsphere DS, 59 bar, LHM, removable damper 56,70 ?
 H010 Frontsphere DS, 59 bar, LHM 49,90 ?
 H011 Frontsphere DS, 59 bar, LHM, new 95,30 ?
 H012 Frontsphere DS, 75 bar, LHM, welded 47,70 ?
 H013a Rearsphere DS, 26 bar, LHM, removable damper 56,70 ?
 H013 Rearsphere DS, 26 bar, LHM 49,90 ?
 H014 Rearsphere DS, 26 bar, LHM 95,30 ?
 H015 Rearsphere DS, 40 bar, LHM, welded 47,70 ?
 H016 Rearsphere DS Safari (break), 37 bar, LHM 49,90 ?
 H017 Rearsphere DS Safari (break), 37 bar, LHM 95,30 ?
 H018 Main accumulator DS, 65 bar, LHM 49,90 ?
 H019 Main accumulator, 62 bar, LHM, welded 42,00 ?
 H020 Brake accumulator DS, 40 bar, 2-holes, LHM 49,90 ?
 H021 Brake accumulator DS, 40 bar, 3-holes, LHM 49,90 ?
 H052 Power steering rack DS (LHD), LHM, rev. 465,00 ?
 H053a O-rings for power steering, small 0,70 ?
 H053 Power steering rack DS (LHD), LHS, rev. 499,20 ?
 H055 Rebuildkit power steering DS, LHS/LHM 111,20 ?
 H056 Rack accordion DS, LHM/LHS 17,00 ?
 H057 Rack pinion boot DS, LHM/LHS 17,00 ?
 H058 Hydraulic pump, 7 cylinderers, LHM with new housing 215,60 ?
 H059 Hydraulic pump, 7 cylinders, LHM, with new bearing 156,60 ?
 H060 Hydraulic pump, 1 cylinder, LHM 72,60 ?
 H061a Hydraulic pump, 7 cylinderers, LHS with new housing 233,70 ?
 H061 Hydraulic pump, 7 cylinders, LHS, with new bearing 174,70 ?
 H062a Rebuildkit hydraulic pump, 1 cylinder, LHM/LHS 17,00 ?
 H062 Hydraulic pump, 1 cylinder, LHS 88,50 ?
 H063a Pump bearing hydraulic pump 14,70 ?
 H063b Pump housing hydraulic pump 70,30 ?
 H063 Rebuildkit hydraulic pump, 7 cylinder, LHM/LHS 65,80 ?
 H065 Clutch cylinder carburettor, LHM 65,80 ?
 H066 Clutch cylinder carburettor, LHS 79,40 ?
 H067a Rebuildkit clutch cylinder with spring, LHM 19,30 ?
 H067b Dust cover clutch cylinder large or small 13,00 ?
 H067d O-ring clutch cylinder 6,20 ?
 H067 Clutch cylinder injection, LHM 79,40 ?
 H068 Clutch reengagement control for carb-engines, LHM 106,70 ?
 H069 Clutch reengagement control for injection engines, LHM 106,70 ?
 H070a O-ring clutch reengagement control 1,20 ?
 H070 Clutch reengagement control for carb.-engines, LHS 129,40 ?
 H071a Rebuildkit centrifugal regulator, LHM/LHS 45,20 ?
 H071 Centrifugal regulator carb. and inj., LHM 120,30 ?
 H072 Centrifugal regulator LHS 131,60 ?
 H073a Hydraulic bloc, LHM 133,90 ?
 H073b Hydraulic bloc, LHS 156,60 ?
 H073 Silent bloc centrifugal regulator 8,90 ?
 H074 High pressure regulator, LHM 68,10 ?
 H075 High pressure regulator, LHS 84,00 ?
 H076 Height corrector DS, LHM, rev. 47,70 ?
 H077 Height corrector DS, LHS 63,60 ?
 H079 Rebuildkit height corrector 19,30 ?
 H080 Brake caliper, LHM 97,60 ?
 H081a Brake caliper, ->'65, LHS, new pistons 260,90 ?
 H081 Brake caliper (last model), LHS 111,20 ?
 H082a Rebuildkit brake caliper, ->'65, 2 sets, LHS 9,10 ?
 H082b O-ring for the air valve 0,90 ?
 H082 Rebuildkit brake caliper (1 set), new type 17,00 ?
 H083a Rear brake cyl. safari (break), LHM 52,20 ?
 H083b Rear brake cyl. berline, LHS 47,70 ?
 H083c Rear brake cyl. safari (break), LHS 63,60 ?
 H083d Rebuildkit rear brake cyl. berline (break) 15,90 ?
 H083e Rebuildkit rear brake cyl. safari (break) 20,40 ?



 H083 Rear brake cyl. berline, LHM 36,30 ?
 H084 Front suspension cyl., LHM 63,60 ?
 H085 Front suspension cyl., LHS 74,90 ?
 H086 Rear suspension cyl., LHM 65,80 ?
 H087a Safety plate rear suspension cyl. 2,00 ?
 H087 Rear suspension cyl., LHS 79,40 ?
 H088a Square seal for rear suspension berline (extra) 4,60 ?
 H088 Rebuildkit suspension berline 12,50 ?
 H089 Rear suspension cylinder safari (break), LHM 74,90 ?
 H090 Rear suspension cylinder safari (break), LHS 86,20 ?
 H091 Rebuildkit suspension safari (break) 17,00 ?
 H092 Sphere o-ring circular, LHM 0,70 ?
 H093 Sphere o-ring circular, LHS 0,70 ?
 H094 Sphere o-ring square, LHM 1,40 ?
 H095a Sphere plug o-ring 0,80 ?
 H095 Sphere o-ring square, LHS 1,80 ?
 H096 Front suspension dust cover 15,90 ?
 H097a Rubber mounting ring for dust cover, large 2,00 ?
 H097 Rear suspension dust cover 14,80 ?
 H098 Rubber dust cover for aluminium main brake cylinder 8,40 ?
 H099 Rubber dust cover for steel main brake cylinder 13,00 ?
 H100a LHM 5 litres 19,30 ?
 H100 LHM 1 litre 4,60 ?
 H101a Special flushing oil hydraurincage 5 litres LHM 26,10 ?
 H101b Special flushing oil hex. glycol 5 litres, LHS 27,30 ?
 H101c Hydrau-care, additive for hydraulic systems 18,20 ?
 H102 LHS 1 litre 12,10 ?
 H103 Sphere tester 124,80 ?
 H104 Storage barrel LHM, filter inluded, original 52,20 ?
 H105 Tube nut, 3,5 mm 1,20 ?
 H106 Tube nut, 3,5 mm, 50 pc. 45,40 ?
 H107 Tube nut, 4,5 mm 1,20 ?
 H108 Tube nut, 4,5 mm, 50 pc. 45,40 ?
 H109 Tube nut, 6,35 mm 1,80 ?
 H110 Tube nut, 6,35 mm, 25 pc. 36,30 ?
 H111 Fluid seal, 3,5 mm, LHM 0,70 ?
 H112 Fluid seal, 3,5 mm, 100 pc., LHM 54,50 ?
 H113 Fluid seal, 4,5 mm, LHM 0,70 ?
 H114 Fluid seal, 4,5 mm, 100 pc., LHM 54,50 ?
 H115a Fluid seal, 6,35 mm, for brake acc., LHM 1,60 ?
 H115 Fluid seal, 6,35 mm, LHM 1,60 ?
 H116a Fluid seal, 3,5 mm, LHS 1,20 ?
 H116b Fluid seal, 3,5 mm, 100 pc., LHS 88,50 ?
 H116 Fluid seal, 6,35 mm, 20 pc., LHM 25,00 ?
 H117 Fluid seal, 4,5 mm, LHS 1,40 ?
 H118 Fluid seal, 4,5 mm, 100 pc., LHS 102,10 ?
 H119a Fluid seal for brake acc., 6,35 mm, LHS 2,10 ?
 H119 Fluid seal, 6,35 mm, LHS 2,10 ?
 H120 Fluid seal, 6,35 mm, 20 pc., LHS 34,10 ?
 H121 Hydr. tubing, 3,5 mm, per metre 4,60 ?
 H122 Hydr. tubing, 3,5 mm, per 25 metres 90,80 ?
 H123 Hydr. tubing, 4,5 mm, per metre 5,00 ?
 H124 Hydr. tubing, 4,5 mm, per 25 metres 102,10 ?
 H125 Hydr. tubing, 6,35 mm, per metres 11,40 ?
 H126 Hydr. tubing, 6,35 mm, per 7.6 metre 74,90 ?
 H127 In-line connector, 3,5 mm 2,70 ?
 H128a Clamb/quick coupling, 4,5 mm 2,80 ?
 H128 In-line connector, 4,5 mm 2,70 ?
 H129b Hydraulic tube bend device (4,5 & 6,35 mm) 86,20 ?
 H129 Flaringtool 251,90 ?
 H130A Punch & split die set, 4,5 mm 52,20 ?
 H130 Punch & split die set, 3,5 mm 52,20 ?
 H131 Punch & split die set, 6,35 mm 52,20 ?
 H132a Ligarex pliers de luxe with knive 38,60 ?
 H132 Ligarex pliers 23,80 ?
 H133a Ligarex strapping 20 m. and 100 clips in dispenser 15,80 ?
 H133b Ligarex dispenser 12,50 ?
 H133 Ligarex strapping 25 m. and 100 clips 12,50 ?



 H134a Nylon returnhose, 5 x 3 mm, per metre 3,90 ?
 H134b Rubberbend for returnhose 9,80 ?
 H134c Insert for rubberbend front (4&7) 3,90 ?
 H134d Insert for rubberbend rear (4&4) 3,90 ?
 H134 Nylon returnhose, 4 x 2 mm, per metre 3,40 ?
 H135 Rubberhose for return on HP regulator 9,80 ?
 H137 Brake valve aluminium, LHS 93,00 ?
 H138 Brake valve aluminium, LHM 79,40 ?
 H139 Brake valve steel, LHM 102,10 ?
 H140 Panduit stainless steel hose clips 1,20 ?
 H143 General piping from front to rear, 4 x 4,5 mm 88,50 ?
 H144 General piping, 3 x 4,5 mm and 1 x 6,35 mm 104,40 ?
 H145a Connecting tube for flex. rear brake pipe, left 15,90 ?
 H145b 3-way tube connection, 4,5 mm 11,40 ?
 H145c Nut for flexible brake pipe 1,80 ?
 H145d Mounting brackets for flexible brake pipe, 2 pc. 19,30 ?
 H145e Flexible brake pipe, LHS 31,80 ?
 H145f Brake pipe, 50 cm 9,10 ?
 H145 Flexible rear brake pipe, LHM 26,10 ?
 H146 4-way union nylon for return hoses LHM/LHS 8,00 ?
 H147a Hydr. return hose rubber, 3 x 8 mm, per m. 6,20 ?
 H147b Hydr. return hose rubber, 5 x 11 mm, per m. 9,60 ?
 H147c Hydr. return hose rubber, 7 x 14 mm, per m., LHM 9,60 ?
 H147d Hydr. return hose rubber, 11 x 18 mm, per m., LHM 12,10 ?
 H147e Tube guiding ring, 16 x 32 x 7 2,40 ?
 H147f Hydr. return hose rubber, 7 x 14 mm, per m., LHS 9,60 ?
 H147g Hydr. return hose rubber, 11 x 18 mm, per m., LHS 12,10 ?
 H148 High pressure pipe 21,60 ?
 H149 Tube support in rubber for 4,5 mm hydr. tube 1,20 ?
 H150 Manocontact LHM 24,60 ?
 M037g Heat shield exhaust (outer) carb., with preheater 35,20 ?
 M051a Drive belt highpressure pump, old type 7,10 ?
 M051 Drive-belt high-pressure pump 7,10 ?
 M052 Drive-belt centrifugal regulator 7,10 ?

Ignition

 140.0155 5 452 417 CONDENSAT.ID/DS+REN. DUC. 3,00 ?
 140.0355 DM 211 15 Distr.lock DS ORG.DUC. 8,10 ?
 140.0356 5 452 419 Distr.lock DS ORG.DUC.HAND 12,80 ?
 C-558 95559241 Rotor Ducc all types 4,60 ?
 C-758 594806 Condensator DS D703 4,90 ?
 C-816 Ignition points S403 5,10 ?
 C-817 DY211217A Ignition points S407 10,20 ?
 C-818 Ignition points B414 4,40 ?
 C-819 592709 Ignition points DS D304 Ducc 3,50 ?
 P-788 5451448 Spark plug lead cables DS Carburateur 22,10 ?
 P-789 Spark plug lead cables DS Injectie 22,10 ?

Interior

 A056 Shift stick rubber, '65 -> 11,60 ?
 C031c Sealing strip for glass innerside, front or rear 22,00 ?
 C031d Clambs for sealing strip innerside, stainless steel, pr piece 0,50 ?
 C031g Spring for window handle 2,30 ?
 C032b Door handle innerside, chrome, front or rear 49,90 ?
 C032c Rubber seal doorhandle innerside 2,30 ?
 C032d Rubber seal doorhandle outside, -> '71 2,30 ?
 C032e Mounting rubber doorhandle innerside 0,70 ?
 C034 Door plastic innerside, set for 4 doors 14,80 ?
 C067c Fresh air tube in sill (diam. 45mm) p.m. 5,70 ?
 C067d Sponge rubber around heater inlet 4,80 ?
 C089 Steering wheel new black foam DS 197,40 ?
 C105a Plastic plug for door panel clip, 10 pcs. 4,50 ?
 C105 Clip for door panel (metal), 10 pcs. 4,50 ?
 C117 Opener for the bonnet 6,40 ?
 C120 Clutch pedal pad small or large 9,10 ?
 C121a Circular mushroom brake pedal pad 11,60 ?
 C121b Hand brake pedal pad 9,10 ?
 C121 Brake pedal pad 9,10 ?
 C124 Sealing sleeve accelerator control 5,70 ?



 C125c Rubber under 'window lowering lever' 1,40 ?
 C134a Safety belt for back seats 57,90 ?
 C134b Safelty belt (around hips only) 30,70 ?
 C134 Safety belt for chair 61,30 ?
 C135a Rubber for glovecompartment 1,00 ?
 C135 Rubber chrome edge dashboard, 3 pcs. 9,10 ?
 E010a Cover for interior lamp Safari (break) rear 9,80 ?
 E010c Bootlighing unit 12,90 ?
 E010d Bootlighting cap 8,70 ?
 E011a Indicator switch, 6 or 12 Volt, -> '67 45,40 ?
 E011b Relay for indicator switch, '67 -> 12,10 ?
 E011c Relay for indicator switch, 3 wires, '67 -> 17,00 ?
 E012 Light switch 35,20 ?
 E013 Switch for brake light DS (DV/DY) 5,70 ?
 E014 Switch for reverse light 8,40 ?
 E032e White bulb, 10 Watt 1,20 ?
 E032h Boot lamp/interior lighting 6 Watt 5,50 ?
 E032i Dashboardlighting 3-2 Watt 1,50 ?
 I001 Jersey tissue per metre, width = 1.50m, colours: red, bordeauxred, oker, 

green, blue, gray (also Pallas stripe)
37,00 ?

 I002 Pallas lines tissue (w = 1.40m, 5 colors) per metre 40,20 ?
 I003a Pallas seats and bench mounted, Jersey 988,00 ?
 I003b Pallas seats and bench covers, Jersey 783,00 ?
 I003c Door panels Pallas, mounted, set, jersey 431,00 ?
 I003d Headrests wide, with supports, Jersey 274,50 ?
 I003e Supports for wide headrests 59,00 ?
 I003f Headrests, Jersey 295,00 ?
 I003g Central armrest, Jersey 113,50 ?
 I003 Pallas interior complete mounted, Jersey 1678,50 ?
 I004a Seats and bench, stitched, Jersey 896,00 ?
 I004b Seats and bench covers, Jersey 737,50 ?
 I004c Door panels non Pallas, set, Jersey 295,00 ?
 I004 Non Pallas interior mounted, Jersey 1474,00 ?
 I005a Pallas seats and bench mounted, Leather 2257,50 ?
 I005b Door panels Pallas, mounted, set, Leather 658,00 ?
 I005c Headrests wide, with supports, Leather 385,00 ?
 I005d Central armrest, Leather 159,00 ?
 I005 Pallas interior complete, mounted, Leather 3222,00 ?
 I006a Seats and bench mounted, Skai 896,00 ?
 I006b Seats and bench covers, Skai 599,00 ?
 I006c Door panels, mounted, set, Skai 295,00 ?
 I006 Interior complete, mounted, Skai 1474,00 ?
 I007 Door panel, no cover, Front or Back 12,50 ?
 I008 Headrests wide, no cover, set 173,90 ?
 I009a Chrome tubes for small headrest assy 25,80 ?
 I009 Headrests, no cover, set 161,10 ?
 I010 Central armrest, no cover 75,00 ?
 I011 Interior bar (inside seats) 20,50 ?
 I012 Interior bar clamps 5,00 ?
 I013 Carpet set complete, grey or red, Pallas 12 parts 306,50 ?
 I015 Pallas, front and rear floor carpet, several colours 129,50 ?
 I016 ID, front and rear floor carpet, with raster pattern 129,50 ?
 I018 Rear mat, red, Berline OT 56,80 ?
 I019 Inner sill cover material Pallas, var. colors 129,50 ?
 I020 Inner sill cover material ID, grey 131,60 ?
 I021 Innerwing cover material Safari 90,80 ?
 I022 Threshold carpeting: black plastic, alu Foil 43,10 ?
 I023 Rear parcel shelf cover jute back (black) 29,50 ?
 I024 Rear parcel shelf cover foam back (black or brown) 43,10 ?
 I025 Boot lining set complete pre-cut 56,80 ?
 I027 Pallas roof inner carpeting: 5 parts 97,60 ?
 I028 Non Pallas roof inner carpeting: 4 parts 72,60 ?
 I029 Carpeting for side wings C-stand, interior L & R 18,20 ?
 I030 Headlining per metre 26,10 ?
 I031 Bonding for headlining per litre 17,60 ?
 I032 Bonnet lining (set of 3), NT 35,20 ?
 I033 Bonnet lining (set of 3), OT 35,20 ?

Media



 A2 Technical messages + service bulletins D, 750 pages 63,70 ?
 A4 Reparation manual DS or ID, Extended edition 1964, Dutch 38,30 ?
 A6 Reparation manual DS 19 or ID 19, -> 65, German 43,40 ?
 A7 Repair manual D vehicles ('65-'75), English 76,50 ?
 A8 Repair manual D vehicles ('65-'75), French 108,30 ?
 A9a DS/ID Spare parts manual, part I, mechanical parts, 71 -> 33,20 ?
 A9b DS/ID Spare parts manual, part II, body parts, 71 -> 33,20 ?
 A9c DS/ID Spare parts manual, part I, mechanical parts, 70/71 33,20 ?
 A9d DS/ID Spare parts manual, part II, body parts, 70/71 33,20 ?
 A9e DS/ID Spare parts manual, part I, mechanical parts, 66/69 33,20 ?
 A9f DS/ID Spare parts manual, part II, body parts, 66/69 33,20 ?
 A9g ID Catalogue des pièces détachées, French, -> 65 33,20 ?
 A9h DS Catalogue des pièces détachées, French, -> 65 33,20 ?
 A9i DS Cabriolet parts book, 22 pages, German 5,10 ?
 AC5 Les Archives du Collectioneur: DS 19, ID 19, 56/65 28,10 ?
 AC6 Les Archives du Collectioneur: DS 19, 20 et 21, 66/75 28,10 ?
 AC7 Les Archives du Collectioneur: ID 19B et ID 20, D Special, D Super et D 

Super 5
28,10 ?

 AC8 Les Archives du Collectioneur: DS 21 Inj. et DS 23 28,10 ?
 CB10 DS, Le Grand Livre - Olivier de Serres 48,40 ?
 CB12a Toute l'histoire Citroën - new version 10,20 ?
 CB13 l'Album de la DS - J. Borge et N. Viasnoff 38,30 ?
 CB18a 6ème ICCCR, Knebworth, French 16,80 ?
 CB18b 6th ICCCR, Knebworth, English 16,80 ?
 CB19 7th ICCCR, Loreley 1987 19,20 ?
 CB1 La DS, objet de culte - Fabian Sabates 24,50 ?
 CB20a 9th ICCCR, Herning 1992 21,70 ?
 CB20b 10th ICCCR, Clermont-Ferrand 1995 21,70 ?
 CB20 8th ICCCR, Flevohof 1989 19,20 ?
 CB21a Almanach du Citroëniste 1983, French 16,80 ?
 CB21b Almanach du Citroëniste 1984, French 16,80 ?
 CB21c Almanach du Citroëniste 1985, French 16,80 ?
 CB22 Les Prestigieuses Citroën, Fabian Sabates 14,10 ?
 CB23 Les Voitures de Luxe, annees 50, Fabian Sabates 14,10 ?
 CB24 Les Voitures de Grande Serie, annees 50, Fabian Sabates 14,10 ?
 CB26 Das Grosse Citroen DS Buch, D. Puiboube 21,70 ?
 CB27 Les Jouets Citroen, C. Lamming 91,70 ?
 CB36 Frisemouche fait de l'auto 10,20 ?
 CB37a Guide Citroen, Olivier de Serres, Tome I 33,20 ?
 CB37b Guide Citroen, Olivier de Serres, Tome II 33,20 ?
 CB38a Toutes les Citroen, René Bellu, new edition 40,80 ?
 CB38 Toutes les Citroen, René Bellu, old edition 40,80 ?
 CB3 Das Citroën DS buch, H.O. Meyer- Spelbrink 33,20 ?
 CB41 Les Voitures Franciases des Annees 50, René Bellu 40,80 ?
 CB43 De Snoek, Citroen ID/DS in Nederland, Jan de Lange, Dutch 12,50 ?
 CB49 Les Defis Citroën, ralley book 38,30 ?
 CB52 The British Citroën, M. Bobbitt 19,20 ?
 CB54 Auto Collection: Citroen DS 19 8,40 ?
 CB57b Auto Collection: Citroen DS 21 + 23 8,40 ?
 CB60 Herinneringen van een Citroen verkoper, Johan Krediet 12,50 ?
 CB61 De Citroën in Nederland, Wouter en Rob Jansen 11,50 ?
 CB63 Citroen in cartoons, Dutch 15,30 ?
 CB64 Citroen DS, The family Album. Sparrow 17,90 ?
 CB68 Moi Citroen, Fabian Sabates, French 35,70 ?
 CB71d La DS de mon pere, Vol 2 '68-'76, D. Pagneux 29,30 ?
 CB71 La DS de mon pere, Vol 1. D. Pagneux 29,30 ?
 CB72 Beroemde auto's: De snoek, A. Huigen, Dutch 5,10 ?
 CB74 Citroen DS, Sparrow and Kessel 17,90 ?
 CB75 Citroen DS, Sparrow and Kessel, Heel 12,50 ?
 CB79 Encyclopedie des jouets Citroen, Fabian Sabates 68,80 ?
 CB83 Style Avant Garde, N. de Regneville 44,60 ?
 CB84 De originele Citroen DS, Jan de Lange en John Reynolds, Dutch 30,40 ?
 CB85 Een passie voor uitdagingen, J.C. de la Royere (cartoon), Dutch 10,20 ?
 CB89 Bertoni, 30 ans de Style Citroen, Sabates & Bertoni 49,70 ?
 CB90 The Citroën from A to X, John Reynolds 45,90 ?
 CB95 Les Garages 1916-1969, Jansen & Sabatès 49,70 ?
 CB96a 80 Years of Future, R. Guyot en Chr. Bonnaud, English 42,10 ?
 CB96 80 Ans de Futures, R. Guyot en Chr. Bonnaud, French 42,10 ?
 CB9 Le Grand Livre Citroën, Tous les Modeles. Olivier de Serres 48,40 ?



 CD1 La legende Citroen (1000+ pictures, 14 videos), French 49,70 ?
 CD2 DS, the goddess of the road, complete overview, Dutch 40,80 ?
 E12 Complete set repairmanuals for D models, 65/75, German 76,50 ?
 E13 Course: Hydraulics, full colour 16,80 ?
 E14 Course: Electronic injection, Dutch 10,20 ?
 E18 Citroen Memento technique, French 24,20 ?
 E1a Repair manual part 1: Adjustment & control of the mechanical parts, 65/

75, Dutch
19,70 ?

 E1b Repair manual part 1bis: Adjustment & controle of the electrical parts, 65/
75, Dutch

18,40 ?

 E1c Repair manual part 2: Disassembly & assembly, 65/75, Dutch 23,50 ?
 E1d Repair manual part 3: Revisions, 65/75, Dutch 19,70 ?
 E1e Repair manual part 4: Body work, 65/75, Dutch 8,20 ?
 E1 Complete set repairmanuals for D models, 65/75, Dutch 87,90 ?
 E7 Vraagbaak voor uw Citroen DS en ID: Piet Olyslager, Dutch 20,30 ?
 H141 Sticker LHM, antigel or oil 1,20 ?
 I10 Instruction manual Dspecial/Dsuper, 1971, Dutch 16,80 ?
 I11 Instruction manual DS20 - DS21, 1971, Dutch 16,80 ?
 I12 Instruction manual DS20 - DS21 Hydr., 1971, Dutch 16,80 ?
 I5 Instruction manual, DS19, 1963, Dutch 10,20 ?
 I6 Instruction manual, DS19 Mech., 1966, Dutch 10,20 ?
 I7a Instruction manual DS21 Hydr., 1967, Dutch 10,20 ?
 I7 Instruction manual DS19/21 Break, 1966, Dutch 10,20 ?
 I8 Instruction manual ID19B/ID20, 1968, Dutch 16,80 ?
 M020c Air intake sticker (for black air intake) 4,60 ?
 M020e Air intake sticker (for grey air intake) 3,10 ?
 M020g Air intake sticker (for grey air intake), old type 3,10 ?
 M998 11th ICCCR, Chevetogne 1998 21,70 ?
 M999 The Citroën, Jonathan Wood 8,40 ?

Miscellaneous

 M-767 5409959 Returnbag DS front 28,60 ?
 M-768 5410161 Returnbag DS rear 46,80 ?

Screenwiper

 T-865 6426CN Windscreen wiper DS front Valeo 6,20 ?

Starter Engine

 R-818 95493002 Starter engine DS Klein Valeo 190,60 ?

Steering Parts

 M-321 5409797 Right steering rod compl. DS 73,40 ?
 M-322 5409796 Left steering rod compl. DS 73,40 ?

Suspension

 A021a Mounting rubber gear box, diabolo, -> '65 4,60 ?
 A022 Tripode with bearings, high model, '65 -> 238,30 ?
 A023 Tripode dustcover, '65 -> 15,90 ?
 A024 Tripode dustcover for aluminium housing 14,80 ?
 A025 Tripode dustcover, -> '65 14,80 ?
 A026 Drive shaft, -> '65 179,30 ?
 A027a Drive shaft, '65 -> 206,50 ?
 A027d Plastic cover drive shaft bearing, '65 -> 2,10 ?
 A027e Drive shaft anti vibration rubber, '65 -> 11,60 ?
 A028 Drive shaft dust cover wheelside 12,50 ?
 A029a Balljoint bottom, set 63,60 ?
 A029b Balljoint upper, set 63,60 ?
 A029c Balljoint ring 3,50 ?
 A029d Nut with nylon stopper for balljoint fixture 5,70 ?
 A029 Pivot with hub, -> '65 229,20 ?
 A030 Sealing ring inside hub 3,50 ?
 A031a Pivot with hub, new balljoints, '65 -> 306,30 ?
 A031b Front wheel bearing, '65 -> 88,50 ?
 A031c Front wheel bearing ring, '65 -> 22,70 ?
 A031d Pivot with hub, new balljoints and bearings, '65 -> 442,50 ?
 A031 Pivot with hub, '65 -> 249,60 ?
 A033a Clamb balljoint dustcover, '65 -> 1,20 ?
 A033b Lubricator M7 0,70 ?
 A033 Balljoint dustcover, '65 -> 6,20 ?
 A034 Front arms half axles DS Saloon, left or right, '65 -> 223,60 ?
 A035 Front arms half axles DS Safari (break), left or right, '65 -> 242,80 ?



 A036a Rubber buffer rear round, Saloon 3,90 ?
 A036b Disc for rubber buffer, rear 10,30 ?
 A036 Rubber buffer front round, Saloon 3,90 ?
 A037a Rubber buffer rear square, Safari (break) 16,10 ?
 A037 Rubber buffer front square Safari (break), high or low 16,20 ?
 A038 Pushrod for rear suspension, DS Saloon 39,80 ?
 A039 Pushrod for rear suspension, DS Safari (break) 39,80 ?
 A040a Ball for pushrod, -> '65 1,90 ?
 A040 Ball for pushrod, '65 -> 1,90 ?
 A041 Ball seat 17,10 ?
 A042a Clamb for ball seat 1,30 ?
 A042b Dustcover ring (rubber) 1,40 ?
 A042 Dustcover for ball seat 5,70 ?
 A043b Balls for steering relay, 28 per relay, -> '65 0,50 ?
 A043c Balldisc for steering relay, -> '65 17,10 ?
 A043 Trackrod DS, left or right, '65 -> 61,30 ?
 A045 Dustcover for trackrod DS 3,90 ?
 A046 Steering relay DS for assisted rack 88,50 ?
 A050 Rear wheel bearing, kit of 2 43,20 ?
 A051 Sealing ring for rear wheel bearing 4,60 ?
 A052a Dustcover rear wheel bearing, steel 14,80 ?
 A053 Half-bearings nylon for anti-roll bar, 4 pcs 45,40 ?
 C017b Closing panel above rear axle 43,10 ?
 C089 Steering wheel new black foam DS 197,40 ?
 C125 Sealing sleeve hight corrector control 6,20 ?
 H001 Frontsphere DS, 59 bar, LHS 61,30 ?
 H003 Rearsphere DS, 26 bar, LHS 61,30 ?
 H005 Rearsphere DS Safari (Break), 37 bar, LHS 61,30 ?
 H010a Frontsphere DS, 59 bar, LHM, removable damper 56,70 ?
 H010 Frontsphere DS, 59 bar, LHM 49,90 ?
 H011 Frontsphere DS, 59 bar, LHM, new 95,30 ?
 H012 Frontsphere DS, 75 bar, LHM, welded 47,70 ?
 H013a Rearsphere DS, 26 bar, LHM, removable damper 56,70 ?
 H013 Rearsphere DS, 26 bar, LHM 49,90 ?
 H014 Rearsphere DS, 26 bar, LHM 95,30 ?
 H015 Rearsphere DS, 40 bar, LHM, welded 47,70 ?
 H016 Rearsphere DS Safari (break), 37 bar, LHM 49,90 ?
 H017 Rearsphere DS Safari (break), 37 bar, LHM 95,30 ?
 H052 Power steering rack DS (LHD), LHM, rev. 465,00 ?
 H053 Power steering rack DS (LHD), LHS, rev. 499,20 ?
 H076 Height corrector DS, LHM, rev. 47,70 ?
 H077 Height corrector DS, LHS 63,60 ?
 H079 Rebuildkit height corrector 19,30 ?
 H084 Front suspension cyl., LHM 63,60 ?
 H085 Front suspension cyl., LHS 74,90 ?
 H086 Rear suspension cyl., LHM 65,80 ?
 H087a Safety plate rear suspension cyl. 2,00 ?
 H087 Rear suspension cyl., LHS 79,40 ?
 H088a Square seal for rear suspension berline (extra) 4,60 ?
 H088 Rebuildkit suspension berline 12,50 ?
 H089 Rear suspension cylinder safari (break), LHM 74,90 ?
 H090 Rear suspension cylinder safari (break), LHS 86,20 ?
 H091 Rebuildkit suspension safari (break) 17,00 ?
 H092 Sphere o-ring circular, LHM 0,70 ?
 H093 Sphere o-ring circular, LHS 0,70 ?
 H094 Sphere o-ring square, LHM 1,40 ?
 H095a Sphere plug o-ring 0,80 ?
 H095 Sphere o-ring square, LHS 1,80 ?
 H096 Front suspension dust cover 15,90 ?
 H097a Rubber mounting ring for dust cover, large 2,00 ?
 H097 Rear suspension dust cover 14,80 ?
 O-950 5437354 RP62DP Suspension sphere (see lock up table!) 33,60 ?
 O-958 ID59FA Suspension sphere (see lock up table!) 33,60 ?
 O-959 ID26RX Suspension sphere (see lock up table!) 33,60 ?
 O-960 ID26RD Suspension sphere (see lock up table!) 38,20 ?

Tires

 B001 Michelin X 165 x 400 161,10 ?
 B002 Michelin X 155 x 400 152,00 ?



 B003a Michelin XAS 165 x 15 HR 163,40 ?
 B003 Michelin XZX 165 x 15 88,50 ?
 B004a Michelin XAS 185 x 15 HR 192,90 ?
 B004 Michelin XAS 180 x 15 HR 173,50 ?
 B005 Michelin XVS 185 x 15 HR 147,50 ?
 B006 Tube 180 x 15 11,40 ?
 B008 Michelin XWX 205 x 15 VR 315,40 ?
 B010 Rim, as new 61,60 ?
 C102 Wheel nut DS original per piece 2,50 ?
 C113a Spare tire belts 155/165 x 15'' tire 23,40 ?
 C113b Spare tire belts 180/185 x 15'' tire 23,40 ?
 C113 Spare tire belts 165x400 tire 23,40 ?

Tools

 A015b Grinding blocks for brake discs 104,40 ?
 C048a Sealing tape for door embellishers p.m. 1,60 ?
 C057b Puraflex roof kit, tube 310 cc 13,00 ?
 C128a Washer M7 wide original, 10 pcs. 1,50 ?
 C128b Washer M7 narrow original, 10 pcs. 1,50 ?
 C128c Washer M7, 10 pcs. 1,00 ?
 C128 Nut M7, 10 pcs. 1,50 ?
 C129a Bolt M5 x 16, 10 pcs. 1,50 ?
 C129b Bolt M5 x 12, 10 pcs. 1,50 ?
 C129c Bolt M5 x 16 SS , 10 pcs. 2,50 ?
 C129d Bolt M5 x 12 SS, 10 pcs. 2,50 ?
 C129 Bolt M5 x 30, 10 pcs. 1,50 ?
 C130a Bolt M7 x 20, 10 pcs. 3,00 ?
 C130 Bolt M7 x 40, 10 pcs. 3,00 ?
 C131a Washer M5, 20 pcs. 1,00 ?
 C131b Cagemutter M5 brass 10 pcs. 7,00 ?
 C131c Original ring M5 wide 1,50 ?
 C131d Original ring M5 small 1,50 ?
 C131 Nut M5, 10 pcs. 1,50 ?
 E035a Tie-wraps rubber for wiring, large 1,20 ?
 E035 Tiewraps rubber for wiring, small 0,70 ?
 H101a Special flushing oil hydraurincage 5 litres LHM 26,10 ?
 H101b Special flushing oil hex. glycol 5 litres, LHS 27,30 ?
 H101c Hydrau-care, additive for hydraulic systems 18,20 ?
 H102 LHS 1 litre 12,10 ?
 H103 Sphere tester 124,80 ?
 H129b Hydraulic tube bend device (4,5 & 6,35 mm) 86,20 ?
 H129 Flaringtool 251,90 ?
 H130A Punch & split die set, 4,5 mm 52,20 ?
 H130 Punch & split die set, 3,5 mm 52,20 ?
 H131 Punch & split die set, 6,35 mm 52,20 ?
 H132a Ligarex pliers de luxe with knive 38,60 ?
 H132 Ligarex pliers 23,80 ?
 H133a Ligarex strapping 20 m. and 100 clips in dispenser 15,80 ?
 H133b Ligarex dispenser 12,50 ?
 H133 Ligarex strapping 25 m. and 100 clips 12,50 ?
 M006d Exhaust manifold stud M8 x 45 mm 1,40 ?
 M006e Intake manifold stud M7 x 38 1,40 ?
 M006f Nut for M7 or M8 stud self-locker 0,50 ?
 M020c Air intake sticker (for black air intake) 4,60 ?
 M020e Air intake sticker (for grey air intake) 3,10 ?
 M020g Air intake sticker (for grey air intake), old type 3,10 ?
 M037d Stud M7 manifold, 3rd type 1,30 ?
 M054a Bearing grease, waterproof, for wheel arm 6,80 ?
 M054 Bearing grease 400 gr. 3,40 ?
 M055 Engine oil, 20W/50, Pentosin, 5 litres 16,60 ?
 M056 Gearbox oil, SAE 90, 1 litre 4,30 ?
 U035b SS clamb for rear pipes end 2 pieces 19,80 ?
 U035 Mounting kit special for SS system for DS 59,00 ?
 U038 Exhaust kit 6,80 ?

Windows

 T-729B Windscreen DS Gelaagd green 131,20 ?
 T-729 N.M.L. Windscreen DS Gelaagd blanc 127,30 ?


